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 Standard 
 ISO 14001:2015 

 

 Certificate Registr. No.  01 104 2100785 

 

 Certificate Holder:  Fritz Dräxlmaier GmbH & Co. KG   

 Landshuter Str. 100 
84137 Vilsbiburg 
Germany 
 
  including the locations according to annex 

  

 

 Scope:  Responsibility for the central functions within the environmental 
management system 
 

   Proof has been furnished by means of an audit that the 
requirements of ISO 14001:2015 are met. 
 

 

 Validity:  The certificate is valid from 2023-12-22 until 2026-12-21. 
 First certification 2020 
  

  

 2023-11-28   

 

 
 

  TÜV Rheinland Cert GmbH   
 Am Grauen Stein · 51105 Köln  
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